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I == b =4I= =l
No. $¥%ﬁ %%na"? %Bﬁﬁz"ﬁ% FﬁEi‘lﬁ EE x(rna) x(ﬁl:q) j((EFq) x(m/ﬁ)

| emmELH6T H BK #t NI EhthE T+ ERE 3 196.15 380 1.94 39,700

2 B¥HE/ BT vB #t & AH™HA /KA1 4 191.40 300 1.57 15,000

3HKRKE2(FBEBREER) uQ BE SNV -FEFHTRERAXRE 2 209.83 280 1.33 34,000
4 WingTowng & uQ #t BE SWV-FTEHRBATEE 4 182.87 210 * 115 22,000

5 MAaMmREF VG #t Z50 N AHREHRT 2 211.30 200 * 095 29,000

6 JEHA TR X B PRET sy #t B%HE AERATI R X PR AAET 1 300.00 200 0.67 25,000

7 RiETRRET6 T B LK %t Z40 Bt REr 1 148.00 200 1.35 21,300

8 =ik BD #  #EJI BRI 1 176.54 200 1.13 19,000

9 —AKHET3 (B IFER) LK Z40 FHEH—ARKET 1 259.70 160 0.62 18,000
10 FHM—ARAKE3TH LK Z50 FH T — ARKHET 1 205.00 160 0.78 18,000
11 A LLBTINR = /NE 4 B LK %t Z50 PRl A EEETON3R /NS A B 2 179.07 160 0.89 17,900
12 {FEAET2 (ZAFGER) SN #t BN R T R SAET 1 152.96 160 *  1.05 13,000
13 Rakuie X HT sQ =50 Ty RET 2 133.91 150  * 112 24,000
14 3 EH AT R ET LK Z5N 3 H T AT SR AT 1 137.60 150 1.09 18,500
15 R RERTI4TH sy #t Eed ERT R XERT 1 132.42 150 1.13 18,000
16 GEMRTEIL R /ML sy #t B%HE ERTEIL R /MR 2 201.00 150 0.75 18,000
17 BILETS (512 F MEER) LK Z40 FHETEILET 1 139.91 150 1.07 16,500
18 2 RETE B A (FRER) vi 4t Z50 SEAATRIRETE B E 1 231.07 150 0.65 12,590
19 FHEMAEWEITH LK %t Z40 FHHERET 1 157.69 140 0.89 16,000
20 EWAT3 (A1 2 H HER) LK Z50 FHETFET 2 142.33 140 0.98 16,000
21 FHETEEE2TH LK %t Z50 FHTEEE 1 157.17 135 0.86 16,100
22 RFINIRF /NG & fh (BT A LLBR) LK %t Z5N 2L ERBAI A LEBT K FIRF /N B 1 148.77 130 0.87 16,500
23 MNZTH/\BEFRKEH LK %t 240 MZH/\IEFrE K 1 162.76 120 0.74 14,000
24 BIEERATS (BIKER) LK Z5N FHETRIBSEE 1 127.61 120 0.94 13,500
25 B F1 (EEER) SN =450 LEEMEREREH 2 112.23 100 0.89 30,000
26 ST (IREER) LJ %t 5 AEETH)IIXIHR 1 207.92 100 0.48 25,000
27 AEEHHFNRIR LJ #t 5 ZEETHIIIRIR 1 210.12 100 0.48 25,000
28 FmEBTIRAK SN #t Z5N RiEmRERK 2 200.12 100 0.50 24,000
29 J-yN-HEEBETRRE SN % Z50 HEHmEERA 2 195.13 100 0.51 24,000
30 AnghFER2 (FAHFER) SN #t B & EHHEHFER 1 161.60 100 0.62 23,000
31 7=y —HJREETERIL I SN #t 2450 EER AR AR ST AT 1 142.27 100 0.70 22,500
32 MEFFRI(EFE-AHEEKEN) SN %t 240 B EEHREFR 1 126.50 100 * 079 22,500
BB EHENMEFRI SN #t =450 L EHEHIREFR 1 128.27 100 0.78 22,500
34 FHHIET2 CEEER) SN #t Z50 EE KHUET 1 106.64 100 0.94 21,000
35 BT AAIGETH SN =450 ERHAAGETH 2 139.26 100 0.72 20,000
36 HEERE(EEER) LJ %t 5N HEMFEERE 4 282.30 100 * 035 19,500
37 REHFE 1 (FHER) SN 50 2 EHEHREFR 1 97.24 100 1.03 17,000
38 JtILETHE (FAEER) SN %t Z50 It LETEG 1 280.00 100 * 036 17,000
39 k& HENIREFERI SN #t 2450 L EHEHIREFR 2 99.46 100 1.01 17,000
40 hz g SN 50 & T ETRZEE 1 156.22 100 * 064 16,000
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41 iR SN # =50 T2 EETm R 2B/ 1 156.22 100 * 064 16,000
42 INR2(BEER) SNt B INETFTINAR 2 212.96 100 047 15,000
43 KEFE#E/IBFARXX SN Z50 ML EEHET KT8 BFFHEX R 1 115.27 100 0.87 14,000
44 {RELET2 SNt Z5N R T R SAET 2 152.93 100 0.65 12,000
45 FZE T/ \tEFHL LK %t Z40 ML/ \WEE8EL 1 149.00 100 0.67 11,000
46 EHEMEH sy #t B%HE ERREHFE 1 271.74 100 0.37 10,000
47 J)-uN-HRIGENR T SN #t 250 it 15 T 2 R BT = T 2 126.66 80 0.63 14,000
48 kB HEHNFEF R L #t BN A HEHFEF R 2 199.35 75 0.38 27,500
49 KF &5 (BKREER) LJ #t 5 INETRFEIE 3 226.79 65 0.29 24,800
50 /METKFE G SN #t Z5N INETRRF R BT ARE 2 226.06 65 0.29 24,800
51 —EmiEEF LJ #t 5 —EBHEEF 1 195.23 60 0.31 26,000
52 & HFHh L &H SNt B HBHHLEE 2 218.55 60 0.27 24,000
53 {&;&3F6 (FRIRER) LJ #t 5 —BEHEEF 1 146.57 60 0.41 23,500
54 RIGET{EEF (FERERD SN #t Z5N —EMABE REF 1 146.57 60 0.41 23,500
55 {ni%3F6 (FRIRER) (£ ]D2) LJ #t 2450 —EHEEF 2 149.44 60 0.40 20,500
56 1=;%3F3 (FEIRER) LJ %t Z50 —EMiniEF 2 133.02 60 0.45 16,000
57 {zi%¥F6 VE #t 50 —EHEEF 1 102.83 60 0.58 15,000
58 KMTSHETIEE (A28 SN #t Z5N AETMAHIZETIES 2 198.26 50 0.25 35,000
59 #BFRIRTG1 (FEHER) SN % Z450 L2EEMERREHRRA 1 196.00 50 * 026 25,000
60 EAEHET1 (F B HER) SN #t gl EBHTEEHE 2 129.99 50 0.38 22,000
61 EAHTEHE LJ #t 5 ERAHMEHE 3 182.39 50 0.27 20,000
62 SFEERHET (FFEEER) SN #t Z5N [if] W5 77 S B SR AT 1 146.03 50 0.34 18,000
63 KFEIGFHE SN 2450 AEEHME LT RFEIETHRE 1 854.00 50 0.06 16,000
64 K=FILsh L (FEIAER) SNt B MR RFIE S L 2 130.13 50 0.38 15,000
65 I ((REBR) (£ D2) LJ #t 2450 HEEMHRNIIRIR 1 133.71 50 0.37 14,000
66 FMEAT AR (RERSER) SN #t Z5N RiEmRER KK 1 83.69 50 0.60 13,000
67 BAEy—BBE—TH VE #t 2450 tt&EEmEAy—B%A 2 126.42 50 0.40 12,500
68 B ILUET3 (AREFER) SN #t B4 ZEETER S 1 101.30 45 * 044 20,000
69 BILAT3(REFER) (£7D2) SN %t 5 ZEEHEX S ILET 1 97.67 45 * 046 20,000
70 /NR2(EFF=ER) SN %t Z5N FRiRT/NR 1 102.33 375 *x 037 15,000
71 BN (G EER) (FD2) vd # HR KHERFERE 1 69.31 8.9023 0.13 14,838
72 £EETETIANVN-TY uv #t AR RHERBMHWUFE 6 155.40 60,300
13 EELRET7ANIN-TU(E228 118 UV # AR HHEBBHLUFR 3 151.93 54,100
74 ERYET NN TV (FE1814R) uv #t AR RERBMHLUFE 1 153.58 53,200
75 HLID EM %t AR FHEHPLDI 1 249.08 33,100
76 I7ELAY U RBRE T I EK #t 50 NATHRABTETH 3 166.30 23,000
77 ThiNy) A S R ER TE #t Z450 = E T AR ERET 3 185.08 21,000
78 ThNYIAEEMEE (BEEHH LR TE  # BN =R AR EAET 4 171.33 21,000
79 KF#E)IFIREE (B EER) LK %t g | ML EEHET KF#E)FRZRR 1 222.94 18,000
80 /\FIETE IR (A1LER) LJ %t ZH BET/\HET AR 1 294.94 18,000
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81 FHENRMEI3 (4 RER) LK % =50 EEA R IET) 1 150.15 18,000
82 k1 (BRBIER) SN #t Z4 ZH B ki 3 113.73 17,000
83 A/ (3B ER) vD #t HR KHERERE 1 84.44 16,969
84 N —TEHEFEA vD #t B’ KHEXTEE 2 61.31 16,696
85 JTHATET1 (Fr 4t B FRER) SN =450 Zo B A R ThAET 2 63.45 16,000
86 = EBER22%> VF # PN wHEfESRI 1 50.92 11,000
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